ADEM & FBAHRO  (FRE L)
(1) 2ab—2a+3b—3 (2) z°+7z+6 (3) a’—122+36 ={z+7)+6yl{(+7)—6y)

4) z*+z—12 (5 16a*—16a —21 (6)
(1) (2a4+3)b—1)=2a Xb+2aX(=1)+3Xb+3X(—-1)

=2ab —2a+3b—3

2 (x+1)(z+6)=z*+(1+6z+1X6
=2%4+72+6

3) (@a—6?2=a’—2xX6Xxa+6

=a?—12a + 36

@) (z—3)z+4)=z2+{(=3)+4)jz+(-3)x4
=zi4+z—12

(5) (4a+3)da —T)=(4a)*+(3—T)X4da +3X(—=T7)
=16a%—16a —21

6) (z—y+z)={ec—y)+z)’
=(z—y)?+2x—y)z+2°
=z 2wy +y’i+222 —yz+2°
=zl 4y’+2%— 22y —2yz + 22z

[2]@&8 (1) (@—2)z+7) 2)
4) (z+2)z—2) (5)
(1) z245z—14=(zx—2)z+7)
2 y’+4y—96=(y—8)y+12)
3) z’4+14x+49=224+2XTXz+T7°
=(z+7)*
4) z?—4=2%2-2?
=(z+2)xz—2)
(5) (@—2b)?—11b(a —2b)=(a —2b){(a —2b)—11b}
=(a—2b)a—13b)
6) 22+ 14z +49—36y2 = (22 + 14z + 49) — 36y 2
=(z+7)—(6y)

ﬁ

(y —8)y +12) 3)
(@ —2b)a—13b) (6)

ri4yl4z22—2xy —2yz + 22z

(x+7)
(x+6y+T7)Nx—6y+7)

=(x+6y+7) z—6y+7)

(1) 42 (2 78

1) 1764 = REHDET D &
1764=2X2X3X3X7X7
=(2X3x7)=42* 42
(2) 6084 = REHDAET D L
6084=2X2X3%x3XxX13%x13

=(2X3%x13)2=78? 78
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